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Find all values of p for which Z . converges.

“— (n? + 1)
A p>1 B.p<1 C.p>1 @p>1/2 E.p<1/2
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Which of the following series converge conditionally?
o0 o0
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A.Tlonly. B.landIllonly. C.IandIl only. D. All three. @ None of them.
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o0
n
Find the interval of convergence of the power series Z g?;(a: - 2)".
n=1

A.-b<zr<d5 B 3<z<7 C-2<z<2 D -3<zz<7 @-—3<af:<7
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Use the power series representation of sinz to find the first three terms of the Maclaurin
series of f(x) = zsin(z?)
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16. Recall that cosz = é % for all . and tan™'z = g (—21;:2;4-1 for 2| < 1.
Find the limit B
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A point P has polar coordinates (3, 7/4). Which of the following are also polar coordinates
of P?
v

v
o (-3,-r/9) (D) (-351/4) () 3,-Tn/8) ) (3,~5m/4)

A. T and IT only. B. I and III only. C. T and IV only.
@ Il and IIl only. E. II and IV only.
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. Which of the following polar equations describes the plot?
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